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Inégalités - Exercices

Thierry LOOF

Exercice 1
Compléter le tableau suivant le modéle :
Inégalité : x < 2 Intervalle :
Représentation :
— 0 +oo
10 9 ] 7 6 5 4 3 2 1 L] 1 2 3 4 5 6 7 8 10 " 12
Inégalité : Intervalle :
Représentation :
. +00
L I
10 ) & K] % 5 4 ) L 1 0 1 2 3 4 5 6 7 3 10 1 12
Inégalité : Intervalle : X e ]- 2 ; +oo]
Représentation :
— 0 +oo
10 9 ] 7 6 5 4 3 2 1 L] 1 2 3 4 5 6 7 8 10 " 12
Inégalité : -1 <x<2 Intervalle :
Représentation :
o +oo
10 9 B 7 6 5 4 3 2 1 1] 1 2 3 4 5 1] 7 8 10 " 12
Inégalité : Intervalle :
Représentation :
— 00 “+oc
1
10 9 ] 7 6 5 4 3 2 1 [] 1 2 L) 4 5 6 7 8 10 " 12
Inégalité : x > 1 Intervalle :
Représentation :
o +00
10 9 ] 7 6 5 4 3 2 1 L] 1 2 3 4 5 6 7 8 10 " 12
Inégalité : Intervalle : Xel[-1;2]
Représentation :
o +oc
10 9 B 7 6 5 4 3 2 1 1] 1 2 3 4 5 1] 7 8 10 " 12
Inégalité : -7 <X < 6 Intervalle :
Représentation :
— 0 +oo
10 9 B 7 6 5 4 3 2 1 1] 1 2 3 4 5 1] 7 8 10 " 12
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